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Topic 6: Science in action: the nappy challenge

__________ - -
I
You can throw disposable ||| Disposable nappies can
nappies away so thereisno | | | absorb more urine than
mess or smells. I towelling nappies.
I
__________ _|_ —_— e —

Disposable nappies do not
use electricity because they
do not have to be washed.

Babies will wear about 5,000
nappies. All of these go into
a bin and then into landfill.

__________ _|_ - - = = = =
I
Towelling nappies can be | ! |If you use towelling nappies,
used for other things, e.g. | ! you won't have stinky
changing mat. | nappies in your bin.
I
__________ _|_ - - = = = =
I
The poo in towelling |
nappies needs to be | Disposable nappies are
scrubbed before they | light and easy to carry.
are washed. |
__________ _|_ - - = = = =

Towelling nappies are
cheaper because they can
be washed and reused lots

of times.

Towelling nappies are made
from natural materials that
are better for a baby’s skin.
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